& doubtnut

India's Number 1 Education App

MATHS

BOOKS - TULSHI PUBLICATION

FIRST SUMMATIVE EVALUATION

First Summative Evaluation

1. (BIAT T4 10 IREL BRY o, IS et

il 21 —


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C9XsGdtyJZIw

A.0.05

B. 0.1

C.0.15

D. 0.2

Answer:

o Watch Video Solution

2. 5@qi d GHla—

A. 8fG I5g ATeT 9F2 ATDH


https://dl.doubtnut.com/l/_C9XsGdtyJZIw
https://dl.doubtnut.com/l/_f3FJWUPDubSY

B. 4f© I57 WIieT Afdafow o
C.9f® Ing @l 9P2 YIPo A@ AL

o

dfdafew 3o I

D. @ﬂﬁTlBQFIZf

Answer:

o Watch Video Solution

3. 22 — 3z + k = 0 TIdId ASETT [9F

(=2) 2CeT, K A9 Fl4—


https://dl.doubtnut.com/l/_f3FJWUPDubSY
https://dl.doubtnut.com/l/_u95fbQXMEDyR

D. 12

Answer:

° Watch Video Solution

2

4.% — 6 TTeadBa froy/SomT —

A.O


https://dl.doubtnut.com/l/_u95fbQXMEDyR
https://dl.doubtnut.com/l/_5pikOqVED1Vt

B.O386

D.6

Answer:

o Watch Video Solution

5.AB 3 CD %fG MHIBIT TI-a9 A(o7HI6d e’ 16
G| Jrad AL Wilt 10 oI =, ot ufbd

LT 3G —


https://dl.doubtnut.com/l/_5pikOqVED1Vt
https://dl.doubtnut.com/l/_NbE3OpqKwtDU

A. 16 OTfT

B. 20 OIfg

C.12 Oifg

D. 5 OIf

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_NbE3OpqKwtDU

6. ATTXI9 f6Ta O J(ad (@& AR PQ T oA, x-ad
N

A. 140

B.40

C. 80

D. 20


https://dl.doubtnut.com/l/_3AvOMYf73cxf

Answer:

o Watch Video Solution

7. TS 5% T J0d 2A $o BIDIT JIHS 5 1
BIal?

° Watch Video Solution

8. x, 12, y, 27 fAd IFAAGI oA, x 3 y-a7

gD i fAST Bl

| 8 l


https://dl.doubtnut.com/l/_3AvOMYf73cxf
https://dl.doubtnut.com/l/_qOdCEija5ksQ
https://dl.doubtnut.com/l/_QY9BLgoIfKPY

9. 9B0 WITOAWL ©PRYUTT =x, LITRLTI=y,
Ao Tedlti=z 932 BT JFeLTT p A x-y+z+p.

ad JIH do?

o Watch Video Solution

10. JABA KT I@ : 22+ 152 +1=0

TP ATE I TS I

° Watch Video Solution



https://dl.doubtnut.com/l/_QY9BLgoIfKPY
https://dl.doubtnut.com/l/_FDmli4JfEURT
https://dl.doubtnut.com/l/_K2OzxLpfXL51

11. ABC fagt&w dfd@da 0 a3k D ¥ BC died
agifdv /BAC = 40° »e, /BOD-ad9 dH

fAdg @l |

o Watch Video Solution

12. (BIAT JAYA 9PR TS Hoddl T Jd

RId 7 I2 JM-WI(ET 7100 BIBT AR 4 IBW u-
O 6200 BIdI A A4 3 JIfTD Hodhdl

et nd eI AT Bt

o Watch Video Solution



https://dl.doubtnut.com/l/_jKPKXzkM2bAB
https://dl.doubtnut.com/l/_2BDuldhc6g8F

13. 9Bf0 SIT=d Tobol 84 I2d 20% AW I A1

SI1ofod I0TIA Shol 28.8 fAGIT 2(eT 2 Iod &It

5I15{5d Tho! do foeT?

° Watch Video Solution

T 3 1
14, YT DT - 3 + — = 4Z(az # 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_2BDuldhc6g8F
https://dl.doubtnut.com/l/_RxjqWPIAoAkq
https://dl.doubtnut.com/l/_VMEXgIzkkpp0

15. ERINIG Gl

+ = 2(xz # b, a)

r —b T —a

o Watch Video Solution

16. (BITAT WETd BB 195 BIBT SFT o1 ad2 wied

TOGIH T G071 v bId! bl M8 99 Wiead

&6 @2 WeAd AP JLT STHF SISt Sist HAeA
TOT® 28 BIPl I Al 82 WeTd AWAT T

AT FEl|

o Watch Video Solution



https://dl.doubtnut.com/l/_WEQ7v2TG8sco
https://dl.doubtnut.com/l/_ffcRDGfZdaqz

17. 522 + 2z — 3 = 0 T79® TFPIIT 7o o

a? B2 ,
a8 B 3 +— A3 T AT S|

° Watch Video Solution

18. a, b, ¢ TFP IO T, I IR @,
a—+b 2_a2+b2
b+c) B+

° Watch Video Solution



https://dl.doubtnut.com/l/_ffcRDGfZdaqz
https://dl.doubtnut.com/l/_Nn7lxkLtiiaZ
https://dl.doubtnut.com/l/_MiSR8gqW49Bd

19. 9 a+b _ c+d
b+ c d+ a

Wa+b+c+d=0

¥, O 919 W J,

o Watch Video Solution

20. 315 a-+b _ c+d
' b+c d+a

?F, @ A9 I (@,

A c=a

° Watch Video Solution



https://dl.doubtnut.com/l/_QH2ujDIZTkM8
https://dl.doubtnut.com/l/_rarT6sDhlSNL

21. 93197 IR (F, 9F2 JBI*TF B (SIAT T

I

° Watch Video Solution

22, 9919 Bl (&, I AT 9FS (@DIAT S I

J(ad (@Al @A Tt TELfSe I,

Ol 82 AT 82 &l 99 U4 A5 2([|

° Watch Video Solution



https://dl.doubtnut.com/l/_w6orddIzv9ky
https://dl.doubtnut.com/l/_rAy91TLwLpp3

23. 936 ISfIBIT ST fHoteTd (@B el x
oIy, @4 1 fafafg a3e @Bfod s 4725 S|

i 1 TACIT f961ed 3GH 8.4 ST 2, Bl x-

a3 i fAdg St

o Watch Video Solution

24, 21 fabl@ Wd, 15 fI5ld 8 adH

OIIYOUAIDIA (BIAIHId BNdd Swerdd witel 3R

(BIAIHIY, ©IIA8 630 feTbId & Gl Ol

sfeiqet PoGT I A of AT Bl

| & |


https://dl.doubtnut.com/l/_VFpaOwHZ2m8z
https://dl.doubtnut.com/l/_k47lsHHrlF9r

| ¥ Watch Video Solution

25.3a =4b = 5c 2(cT abc AT Jd—

A. 0.12783564814815

B. 0.17017361111111

C. 0.21046296296296

D. (BIHITB2 7Y

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_k47lsHHrlF9r
https://dl.doubtnut.com/l/_1rgAjqkfNdz4
https://dl.doubtnut.com/l/_CQhFJKwT3OGG

26.,/3 — 2 932 97 TIH AT TAE—

B.2./3
C.—2¢/3

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CQhFJKwT3OGG

27. (PIAT FeA44 10 I2EL G 20T, IfFD 59
S 2ld —

A. 0.05

B. 0.1

C.0.15

D. (BB AT

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_88vM6SG3YY8d
https://dl.doubtnut.com/l/_Ti4tePbeURUY

28.9 3 16 -a9 AIPIIIAAING x 20T, x-99 Fi A7

DT |

o Watch Video Solution

29, G143 BIATHT 9234 JaIeXY (BIT 9B6—

A. STERITHT
B. FA(DI
C. A1

D. AR


https://dl.doubtnut.com/l/_Ti4tePbeURUY
https://dl.doubtnut.com/l/_oznSSR4HKnaF

Answer:

o Watch Video Solution

30. A ABC ad IRIGR]

/OBC = z°, /BAC = y° ae—

Ax+y=90°

B.2x + y = 180°

C.z +y = 180°

D. (BIAIG2 AT


https://dl.doubtnut.com/l/_oznSSR4HKnaF
https://dl.doubtnut.com/l/_lOrKgYpwx59b

Answer:

o Watch Video Solution

31.“ /7 9316 V& ([AT0) ST —FI6H/RATH
@ nia|

o Watch Video Solution

32. 9o FAI0T 31 T (A D r% SPJ(% 21 ™

p BIBIF n I b&qie 0 IS Jaft @

| 8 l


https://dl.doubtnut.com/l/_lOrKgYpwx59b
https://dl.doubtnut.com/l/_Qticl5NM03Av
https://dl.doubtnut.com/l/_I02LkVFsGgSm

33. 6 5 @fId THIAIf6 9A 76 IV@ 2 972
6 I NFAAONGI TN Fo?

° Watch Video Solution

34. (4z — 2)° + 62 = 251 Jdg WIGIEY@d

TRITAT AT DI

o Watch Video Solution



https://dl.doubtnut.com/l/_I02LkVFsGgSm
https://dl.doubtnut.com/l/_teFJa8Jpkh3O
https://dl.doubtnut.com/l/_4BBluNNNuF2F

35. (PIAT J@I 6cm. MERK SHl-49 (@% A©

ndg-4cm. 20T 8cm. ST 99 P 1dg PO 2?7

° Watch Video Solution

36. (PITAT JALAL 2 I2EL WA 0 3 b n

IATHT 8400 BIBI A72 8652 DBIBIl JA4A 3

JIfID [d 2T Fo?

° Watch Video Solution



https://dl.doubtnut.com/l/_MZq6C22G8GHB
https://dl.doubtnut.com/l/_OsH4OZhdUbog

37. “SAFE DRIVE-SAVE LIFE” €bld WIfGTIAd

TG ALY oAl 9fc 29 ©IF 99 2@ QAT

10% I3 (T3] JOFIA I5(d A6 291616 9

TEDAT 01 O 3 I8d I a2 IS Y 1EHoAld

LT PO Be?

o Watch Video Solution

38. ERINIG Gl

a n b
ar — 1 bxr — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_WuaoXJu9u5Jb
https://dl.doubtnut.com/l/_8XBoHPMpPg31

39. ERINIG] Gl

x+ 3 z — 3
ZL’—3+£13—|—3_5,[$#3, _3]

° Watch Video Solution

40. 9B f&fAT (Ofd I A, B a7 6T 5 JAD
I TIT AT 6 IDBIT A, B a7 6T 6 6 f&fA7

Q[T (G FEI P ST B B fSifAT (ofd FIR?

° Watch Video Solution



https://dl.doubtnut.com/l/_8XBoHPMpPg31
https://dl.doubtnut.com/l/_3cy3aTOF9gvz
https://dl.doubtnut.com/l/_DoooskBgDB6N
https://dl.doubtnut.com/l/_dkm3bIA4VkO6

41. 2 A(®I ABI6 MW WP TR O,
9PDPI A O AETHT, 4 DA AT (AD
Ol I bd BIBer [t A, [gistmed
MYTIod WI1fbd W@ i T 2| FeLTif6

PO?

° Watch Video Solution

42, 9919 Il WLI3E (DI TPl

° Watch Video Solution



https://dl.doubtnut.com/l/_dkm3bIA4VkO6
https://dl.doubtnut.com/l/_uVWPvTYjEFF8

43. 99T IEE: Jo¥ buged [Ede @rasfa

AT TP |

o Watch Video Solution

44, IWM a:b=b:c WOWR G994 II &

1 1 1
212 2 3,13, .3
abc(3+b3+cg)—a+b+c

° Watch Video Solution



https://dl.doubtnut.com/l/_wc2Jms95teUE
https://dl.doubtnut.com/l/_gfXPeOpHV0in

VBt
VE—1
g J17 T34 St

45, a ab =1 FIG]

3a? + bab + 3b?
2a2 — 3ab + 2b?

o Watch Video Solution

46. TITOYAIPIT IR gy, 98 8 THoId

IO 3 : 2 : 1| BB MFLOET GHaDA 352

Isfpb| IHBI feora Mdd @Aigoq 8 Ida
ey fAfY @I BB THAMIA 9ipd @Y

SIRHAIT|

o Watch Video Solution



https://dl.doubtnut.com/l/_me25akUM22T2
https://dl.doubtnut.com/l/_bXAOffYkMfGE

47. AL AT BB FF-JBIDBIT GISIPfo

SId feu@d 95 ©ed Ghapa 2002 I5-C1fF,

fSod fatpd IH-a3 T 14 Cify giafere A1

o fAT5Id e 4Td ot fAdT Bt

° Watch Video Solution

48. (BIAT ©ITeT 3 ©IF TS S (eTd Be
25 : 28 (A ISP JMd 2T —

A.0.03


https://dl.doubtnut.com/l/_bXAOffYkMfGE
https://dl.doubtnut.com/l/_djPM2s4piqQa
https://dl.doubtnut.com/l/_GAccwKv6rLwy

B.0.12

C.10= %

D. 0.08

Answer:

o Watch Video Solution

49. 22 + 10z + 2 = 0 JNPAIT ASFET NS

Tl —

A.10


https://dl.doubtnut.com/l/_GAccwKv6rLwy
https://dl.doubtnut.com/l/_vHuayC5YfBXM

B.-10

C.2

Answer:

o Watch Video Solution

50. 22 — x = k(2z — 1) JIo@E E18 0 A k

A FIH T —

Al
"2


https://dl.doubtnut.com/l/_vHuayC5YfBXM
https://dl.doubtnut.com/l/_G8I34SrUAnCs

C.1

D.O

Answer:

o Watch Video Solution

51. 0 (@l 936 Jad APMET Wt 5 GIfF 932
AB 9B ot 99 et 8 Gife| O v (ATH.AB it

937G TE—


https://dl.doubtnut.com/l/_G8I34SrUAnCs
https://dl.doubtnut.com/l/_JiFecc2tANlm

A.3 OIf

B. 4 OIfg

C. 2.5 OIfg

D. 4.5 OIfY

Answer:

° Watch Video Solution

52, A:B=3:4 932 B:C =6:5,A4:C fady

G|

| 8 l


https://dl.doubtnut.com/l/_JiFecc2tANlm
https://dl.doubtnut.com/l/_95DOP68s0vSL

53. N\ ABC a9 ZABC =90° 93 AB =6
oify 8 BC = 8 Cifg et A ABC ag sfaaspid

fAdg I

o Watch Video Solution

54. QP6 TARPT Hfd W7 43 fIBIGI TAB6A

T STO GHaDd (AT Il

° Watch Video Solution



https://dl.doubtnut.com/l/_95DOP68s0vSL
https://dl.doubtnut.com/l/_9hbxWSg7hwpi
https://dl.doubtnut.com/l/_WmxsaXeSj7a4

55. 22 —br +c=0 NSIEId 9F6 S

WIAABd Isf 2T gt @b = 3be + & + ¢

° Watch Video Solution

1
56. JIf3® s%mwwsoong GEIGE]

baqi% 3 @ el SJid A1ADT fAfT Bt

o Watch Video Solution



https://dl.doubtnut.com/l/_eKf9xjsEppqu
https://dl.doubtnut.com/l/_K9enYOZ3iz7i

57. (PIAT JeT4A 9PR ISP AHJeT nd 2K 7 I=
M-S 7100 BIBT 9 4 J9WH M-S
6200 BIPT 2T AL 3 IS XoDdl HdeT M

317 Ay St

° Watch Video Solution

58. 5IJ14IA SM: (z—7)(z — 9) = 195

° Watch Video Solution



https://dl.doubtnut.com/l/_8opcMYStwfSf
https://dl.doubtnut.com/l/_fBU9eThNdlYY

1 1 1 1
59. TGN BI: = — 4+ — 4+ —|[x
a+b+x a b T

ne 0,-(a+b)]

° Watch Video Solution

60. 83 TitaT BB @B sifewst 8 fBf/aBT|

HIBIG 5 IBT @lod aqPpEe 15 BE g3e

@lod afope 22 B G FIed @ Fo

foer?

o Watch Video Solution



https://dl.doubtnut.com/l/_T11azUnS9Ij7
https://dl.doubtnut.com/l/_8klkgr6AJadc
https://dl.doubtnut.com/l/_1sKa6jIq41AO

61. 2 W 9BIb T WPd TEA O

APHd TEI OE AR 3 T AUB (QAd

5 O 7fod BI%d [T A 15 27

STeLTIBT 9FD T O fNI9 B Tl

o Watch Video Solution

62. Ade Gl

3V7T 55 N V2
V2+45 V2HVT BT

o Watch Video Solution



https://dl.doubtnut.com/l/_1sKa6jIq41AO
https://dl.doubtnut.com/l/_eEQp0OzRZimg
https://dl.doubtnut.com/l/_D4Gi0zB7Ox7R

_ VT+4/3
63. IM z = N

2 2
r® + xy + 12
o yr+y

2?2 —xy+y? 11

adR xy=1 ¥ 1§ MY13

)

o Watch Video Solution

64. 9919 SEI (, [T IT aFS (BIAT SHid I

J33 (@ufdy SRt (@A It STfFUfss

P, Bl 82 AJA @Yl 32 Tii-ad U 97 2d|

o Watch Video Solution



https://dl.doubtnut.com/l/_D4Gi0zB7Ox7R
https://dl.doubtnut.com/l/_HLCy4CpCYaQX

65. (PITAT J(3d 9F2 JBOIIT 399 BRfF0 (FH3

DI AfIfa® @ag TS T—agrT Htl

° Watch Video Solution

3v+4y  3r —4y

66, ———— = Vd MY T
3u + 4v 3u — 4o ? ’

r_u

y v

° Watch Video Solution



https://dl.doubtnut.com/l/_HcvSjajBR4Sf
https://dl.doubtnut.com/l/_NepzlEq2pkJ8

67. IM a:b=b:c WOR g4 II &

1 1 1
a2b202( + + ) —ad+ ¥+l

as b3 c3

o Watch Video Solution

68. 7 OIfy Jro IME 9o fage wimA I,

fagaiiog e R I

° Watch Video Solution



https://dl.doubtnut.com/l/_QcjfgIb9skzh
https://dl.doubtnut.com/l/_io82E7dacuM4

69. 916 T fagey, T TABIT NS JIo

uGd et 7 oifF @ 9 oifF | fagsifb wrEge wmA

G

o Watch Video Solution

70. TS WIFOCHAIBIK JOI dy 8 9%
AT 20 61T 932 15 fI61I 82 I fev@
BIAG (I TG IIAIT ST 4 AT el fArE
5iab TdIPpio slormn i Jifc R



https://dl.doubtnut.com/l/_nhUG3NwbsT1O
https://dl.doubtnut.com/l/_ozCpRH6xA13T

Sifdd G4 BfG M3IT (ATl D ©leld Toh ol

Pobl I (Itetl, ©f 25117 S @Il

° Watch Video Solution

71. 7 OIfF I0IA 936 171 st fFg o
izl 82 e I 5.6 CIfY Wl d I 5 offg

&gl a6 fAWD (1leld &% JaIPd (BreiPpfe

DA T (GRIEAT 27, B SieTod $oHP THE

GO 11T B @I

° Watch Video Solution



https://dl.doubtnut.com/l/_ozCpRH6xA13T
https://dl.doubtnut.com/l/_MrsjBOhhEEmb
https://dl.doubtnut.com/l/_DJF7r8u8KZR7

72. 591 d GHa Tt afdafeo e —

A. AL
B. AT

C. Jif¥d g =19

D. MJ(my

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DJF7r8u8KZR7

73. 9F TfE AB6 IFE 100 BB Tt @, 2

I2d 99 AJT b@qim S AT 121 BIBl IAFD
b qim Jd AId—

A. 0.1

B.0.2

C.0.05

D. 0.105

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5RG9FKCXPI9q

74.azx> + bx + ¢ = 0 fE9I© STTPIT 3@ TLT—

Ab#£0

B.c #0

C.a=#0

D. (BIHITB2 7Y

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7ret0oAlkl3B

75.a:b = c: d 30, (@A TH6 5572

A a+b c+d
"c—d a-b»
5 a+b c+d
"a—b c—d
C a-+b B c—d
"a—b c+d
D.a—b _ c+d

a+b c—d

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OmaRe46iJecp

76. oAb e 79 i 36 ors~ dt TT—

A. 936

B. (G

C. Oy

D. 9353 A

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Cr6DmYwZmdKW

77.8, 4 932 6 a9 b NFIAATGI—

A.8
B.3
C.12

D. 24

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_S43GM9IKAWTq

78. IS PO AW M 900 BIFIF 4 I=EL W, 720

BIBIT 5% 2 6 I2EL W T 2(Q?

° Watch Video Solution

79. igd OGRS @ Q@S BE@ AN DAL

322 — 11z -8 =101

o Watch Video Solution



https://dl.doubtnut.com/l/_ZpkY2XQq5pTL
https://dl.doubtnut.com/l/_WUrMDoIlFsVT

80.p:q=5:7TAR p—qgq= —4 2T 3p — 2q

A JIH do?

o Watch Video Solution

81. 9516 fAG TP df6lt e BT Jfm ¢

Ao~ P ot I J1a?

o Watch Video Solution



https://dl.doubtnut.com/l/_1iEmSphih9le
https://dl.doubtnut.com/l/_Rbg0tu21XOAC

8. z2—br+c=0 MNDRAEIT a6 A

WIAaBd Isf 2T gt B b = 3be + & + ¢

° Watch Video Solution

83. 3 I ©Idd ¥ TS 10% b&qim 2IF ™

6250 BIBIF 9 T b&qie W fAfT S|

o Watch Video Solution



https://dl.doubtnut.com/l/_i68gzEksA9kP
https://dl.doubtnut.com/l/_T7pSOG0uIO42

1
84. JIf¥S 5% S&qfm YW 2 80.00 BIFIT 25

IR YA b@qi% 31 PO A ©f fHIT FEI|

o Watch Video Solution

85. MY Bl : 2 — (/3 + 2)z + 2¢/3 =0

o Watch Video Solution

z+1 1
T + o &

86. AT IPJl: 7 1 + - 19

o Watch Video Solution



https://dl.doubtnut.com/l/_aQQK7rXMNdbT
https://dl.doubtnut.com/l/_Avf3ZYUEm981
https://dl.doubtnut.com/l/_9QUodVXW9rSM

87. az’ + bx + c = 0 Iq®4Bd 9B TS

W5 fE8 9 3T, T8 (T 28% = 9ac

o Watch Video Solution

88. I JoT7 dfo WISH 6 BIBI BAC 30

BIBIY Ot 36 derd AeTT @I W I &

A0 GO BRI FeTy THIT B!

o Watch Video Solution



https://dl.doubtnut.com/l/_9QUodVXW9rSM
https://dl.doubtnut.com/l/_39c7vupmhTSG
https://dl.doubtnut.com/l/_RZQmbmJ578R9
https://dl.doubtnut.com/l/_GfGJf5nBWvZV

8. IM a:b=b:c YOWQE gH Id &

1 1 1
a2b202< + + ) —ad+ ¥+

as b3 c3

o Watch Video Solution

90,2 — W o (Z T4
a-+b r — 4a
T fAfg St

4b
L 2T )aa

x — 4b

o Watch Video Solution



https://dl.doubtnut.com/l/_GfGJf5nBWvZV
https://dl.doubtnut.com/l/_PDZddLZLm0xG

91. GJTT S (&, ITT AT AFH (PIAT &ifl-a9 899

JGd T (P 7 @FA Pl AT, 32 ¥

IEGRERIPRIR RG]

o Watch Video Solution

92. I 7fb g8 44 @ 7o [yo (=n

P, B 19 IR ©Iid (& 36 ©Id LIt

Sil-Ad A7 THFUSHI 9 Az

o Watch Video Solution



https://dl.doubtnut.com/l/_OLaX1imim3YO
https://dl.doubtnut.com/l/_TTK3R4fVb7RQ
https://dl.doubtnut.com/l/_o935545x92ox

93. AB6 TIIT EIdEd WdT, 9% 8 THwold
SIS 24 oY 932 drefd iy 15 ATl a9

AT Fo1d GHapc] dO?

o Watch Video Solution

94. a6 IsfBId SARIMT fHoeta (gHoa WSt x
oI, @4 1 fafefy. a3e (gbfod 8SH 4725 S|
M1 97 CIfF f9oed 86 8.4 ST 27 ©lateT x-ad

i g Bt

o Watch Video Solution



https://dl.doubtnut.com/l/_o935545x92ox
https://dl.doubtnut.com/l/_gW0LgCkmDt2l




